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It is a case where this one is not benefitting, and this one is not losing

OVERVIEW

The X713 stated if the squatter does not (usually) rent a place to stay, and the owner
does not rent out this ¥, it is a case of 70n X7 1M 7371 X7 77 and the squatter would
be 7w from paying rent. N1BOIN claims that he would be Mwd even if it is a XN
that the owner put up for rent.
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The X713 could have said that the squatter is 712 even in a case where the 221 is

up for rent, but this person does not usually rent. The squatter is 1» in this case -
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Since the squatter derived no benefit, even though he caused a loss to the owner —

mooIn explains the reason for this o
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For even if someone chased out his neighbor from his (the neighbor’s) house,
and locked the door in his face (not allowing the neighbor to return to his own

house), it is only considered merely an indirect cause and he is not liable. Therefore
in this case where he merely lived in the 7%r (but did not forcefully prevent the owner from
occupying it) he is certainly Muv>.

SUMMARY

The dweller is exempt from paying even if it is a X73R? X12»p7 721 as long as he is a
23 7°2Y X927 X123, Preventing someone from using his own property is considered
a X173 for which one is not liable.

! The X072 in our MM is 0O K2 7N 7371 &Y .
* See “Thinking it over’ # 2.
? The squatter had no monetary benefit from staying in this 2%m, for even if he would not stay here he would find
another place to stay where he would (also) not pay any rent (see *X 1"7 >"w").
* See following 77373 71t 71"'7 '0I, that by the squatter staying in the 1%, the owner will not find tenants.
> Seemingly when one causes a loss to his friend he is obligated to compensate him for the loss.
® The liability for paying for damages is limited to where the action of the p’r» directly caused an actual damage; he
broke something and it diminished in value. Here however, nothing was broken in the house, no harm was done to
the owner, he merely is being denied the use of his house and may need to pay for lodging; this loss is not caused
directly by the 'pn'. This is referred to as a 72712 X273 which is 07X 172 7109 according to all.
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THINKING IT OVER

1. The X3 concludes later’ that 9on X% 71 7371 177 is Mwd (indicating that there is
no 21 for nX17). Here mooin rules that 1om am 7371 X7 77 is also Mo (indicating
there is no 211 for 1017). Seemingly he should be 7105 even for 70m 71 7371 77T (since
neither X377 nor P1oM causes a 21m)!°

2. If indeed one is Mo in a case of 7om M 7371 &Y 71, why did the X7»3 only
mention that he is 75 by 701 &% 71 7371 X2 171, it should have told us that he is Mwd
even if 1017 1AM 7171 K 717!

7 R,%0.
8 See yw 1 %10 and mwn nhm.
% See footnote # 2.
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